fis 1,000]

S5C-A

100 130 200 250

a0

Specimen_001-Tube_001

100 150
FSC-4

]

250
fi+ 1,000

Specimen_001-Tube 001

BD FACSDiva 8.0

Specimen_0071-Tube_001 Specirmen_001-Tube_001

130

100

Count

ooy |

e
s
u
)
=
(=3
- =
=
= T
2 o ==l s 5
== FZ 3 =2
S S
=
= s
u
s
L& o
1L by lIL I -

-178

a

o 10f 107 10
FITC-4

Specimen_001-Tube 001

20

Caount
30 40 50 kD

20

-266

0 10° 107 10*
PE-Cy7-4

Specimen_001-Tube_ 001

3 2 1 2 3 P 1 a 3
0o 10 10 10 oo 1 10 10
218 PE-& -163 PE-Cw5-A
- Specimen_001-Tube 001 Specimen_0071-Tube_0M
= 2
=
E =]
o
I= T
2= a
o g
=
u =
o~
=
= [

Caount
a0 5 100 125

25

allll]

£

0 10f 107 10
DaP-a,

10 0 10° 107 10* 10° A0f0 10 107 10* 10°
-7 APC-A 418 APT-CyT-4
Specimen_001-Tube_001
= Tube: Tube_001
= Population H#Events %Parent %Total
h . All Events 3132 HiEE 1000
- -l P1 2585 325 325
se [l P2 317 123|101
S -~ P3 261 10.1 23
= -] P4 285 1.0 g1
[l P5 308 119 98
" -] P& 308 11.9 98
o -] P7 326 126 10.4
-] P8 313 121 10.0
= -l PG 342 13.2 10.9
10° 0 10f N n* 107 =

10
=0 ArnCyan-a,




